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HardDisk D{Start:0 sector Size: 15630 1458 sectors )
‘e HardDisk 0 Partition 1{5tart:63 sector Ske6291-
‘e HardDisk 0 Partition 2(Start-a202660% sector Siz Filesystem Type ORE

= e HardDiisk 1{Start0 sector Siz. 1 sectors) hasn Paramaters Dracle Varsion Auto
e HardDisk 1 Partition 1{5tart=63 sector Sie:-4096¢ Tablespace Mode smalifile Tallespace
“w HarilDisk 1 Partition 2(Start: 40965750 sector Siz Databsase Bock Size 512 Bytes,'1 KB,/2 KB/4 KB/D KB/ 16 Ki/32 KB
“o HardDisk 1 Partition 3{5tart: 122001185 sector 51 | Software Parameters Support File Fragment Levesl  Ten Milions Level

10 virtual Disk: Buffer Size B MB

44 oracks AsM Source Parameters Scan Member And Progress  None

| 1 )

| Type [pate. [ ime [ Mossage ]
Information  2012-2-9 11:11:42 Started to et o physical disk information.
Information  2012-2-9 11:11:42 et all physical disk information completed.
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= %= HardDisk 0{Start:0 sector Slze: 156301488 sectors)
= HardDisk 0 Partition 1(5tart:63 sector Sze:6291
e HardDisk 0 Partition 2{Start 62026605 spctor 5
& % Hardbisk 1{Start:0 sector See: 269000000 sectors) | patabase parametors Dracle Version

JFurto
e HardDisk 1 Partition 1{5arl:63 sector Sioe 4096 Tablespace Mode Smalille Tablespace
“WIP{I‘WZ[&H‘IWEIWW Database Mack Size 512 Bytes/ 1 KB/2 EB/4 KB/0 KB/ 16 KB/ 32 KB
‘e HardDisk 1 Partition 3{5 1127081165 sector 5 | Software Parameters Support File Fragment Level 'lull\ﬁ!.BLmn!l
=1 15 wirtual Disk e i Fila Source Parameters Srcan Member And Progress mlmmmmmmm?mxms
B Ex ik 001 (Start:0 s
) £\ sk 002 (Start:0 s ng;g
= i Dracke ASM Craate Sres Bagrun
=3 ugwatm 1 Cpeate ASH Disk Group
E:
Fr\disk 00z(starts B0lie I Fla Le |
LA e Mgplorer Fragents Inf

Ereats Tiamestia Bapart

1] | |
| Type | Data | ime | 5

Information  2012-2-0 1L: 1647 Started to get A physical disk information.

Information  2012-2-9 10: 1647 et all physical disk information completed,

Information  2012-2-9 1124010 Craate scan region of HardDisk 1 succesd,

Information  2012-2-9 1136024 ‘Sean HardDisk lwml..l'ﬂm:lm‘ Siee A0H65687T 'hutlnr)] started.
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File Number | DB File 10 | 08 File Size | 0B File Integrity | DB File Version | DB File Block Size | Instance Name | Tablespace Name g
= = HardDisk 0(Start:0 sector Size:156301468 sectors) (7 g 750M5 | 100,00% Perfect | 109 1558 T
< HardDisk D Partition 1(Start:63 sector 5ize:6291 7.68 M@ 100.00% Perfect 10 16 X8 IWEL =
o 0 Partition 2(Star sector Siz 7.68 MB 100.00% Perfect  10g 16 K8 WL
= % HardDisk 1(Start:0 sector Size: 269000001 sectors) S00.0 MB 0.81% Perfect b1 BKB IWGL INDX
“o HardDisk 1 Partition 1(Start:63 sector Size:4096 S
“o HardDisk 1 Partition 2(Start: 40965750 sector Siz 6 19500 St AN R aKB IWGL IWGL
“ HardDisk 1 Partition 3(Start:122881185 sector 5 7 195 Explorer 18 Filax Info aKke IWEGL WL g
- 1 1:63 sector 8 19568 Creste Diagmestic Ragort BKB WL WGL Ed
1= 49 Virtual Disk 12 195G  Becover Murked Piles 8KB TWGL JWGL 3
® E:\disk, sector sectors) 13 19568 5 8KB IWGL IWGL =
) €2\ sk D02(Start:0 sector Size: 4000000 sectors) o S00MB  100.00% Perfect 109 18 El
= 9 Oracle ASM On 0 50.0 M8 100.00% Perfect  10g 1KB
-
= g ASM Disk Group 1 01z 0 50,0 MB 100.00% Perfect 109 1KB
 E:\disk e soctorsi] B 12 3 9300MB  100.00% Perfect 109 8KB IWGL SYSAUX
® Ex\disk # tors, | O 14 10 8000MB  551%Perfect 109 axe WL SYSALX
2 =0 el - 01 1 10200M8  100.00% Perfect  10g 8xk8 Wl SYSTEM
0w 1 BOO.OMB  2.51%Perfect  10g 8KB WL SYSTEM =
01 1 10000MB  99.30% Perfect 109 8KB IWGL TEMP o)
018 2 12268 100.00% Perfect  10g aKke IWGL UNDOTES:
0w a4 s.0M8 100.00% Perfect  10g aKke WL USERS
1| | i}
[Type. | pate | Time. | 12
Information  2012-2-9  11:16:47 Started to get a physical disk information.
Information  2012-2-9 11:16:47 Get all physical disk information completed,
Information  2012-29  11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan 1 (Start:63 sector sectors) started, SEPRS-F W] =
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TTE rac 0
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1= 4 Physical Disk
= e HardDisk {Start:0 sector Size: 156301488 sectors |
“e HardDisk 0 Partition 1{5tart:563 sector Skei6291
= Hardbisk 0 Partition 2(Start-62006605 sector Siz
= e HardDisk 1{Start:0 sector Size: 2009000001 sectors)
e HardDisk 1 Partition 1{5tart-63 sector Sioe:4096
e HardlDisk 1 Partition 2(5tart:40965750 sector Siz
e HardDisk 1 Partition 3(Ftart: 122001185 secter 5
‘e HardDisk 1 ReglonfStart:63 secbor Slze:d006 566
1= 4 virtual Disk
ik 0L {Stark:l sector Size: 400000 sectors )
ey sk D02 Startil secbor Sire: 4000000 sectors )
= 44 Dracle ASM

gwasBppa~onasoa

L & O1z 50.0 MB
=y ASM Diisk Group 1
25 E disk.001 {Start:0 sector Slze: 4000000 sectors E e iy
0 E:\elisk 002 {Start:0 wertor Sre: 4000000 sectors: |5 1o 1 00 FB
O 11 BOOLO VB
017 1 10000 MB
O1e 2 12208
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(2)File BN
5 Bz G ORACLE B vk 52 544 11) File SEEAFE .

md:lskntstm 0 sector Glze; 156301488 sectors)
“o HardDisk 0 Partition 1(5tart-63 sector Soe6291:
e HardDisk 0 Partition 2(Start-6202660%5 sector Siz
e HardDisk 1{Start:0 sector Size 260000001 sectors) | patabase Parameters Dracke version Auto
e HardDisk 1 Partition 1{Start-63 sector Sioe:4096¢ Tablespara Mode smallille Tablespace
e HardDisk 1 Partition 2{Start-40965750 sector Siz Datalrase Block Size 512 Bytes, 1 KD, 2 KB/4 KD,/0 KB/ 16 KD/ 32 KB
‘e HardDisk 1 Partition 3{5tart: 12081165 sector 51 | Software Parameters Support File Fragment Lewel  Ten Millons Level
1§ virtual Disk Huffer Size BME
44 oracle ASM Saurce Parameters Scan Member And Prograss  None
s | X
Type [pate. [time  [otessage S !

Information  2012-2-9 11:11:42 Started to get o physical disk information.
Informations  2012-2-% 11:1%:42 Lt all physical disk information completed.
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HardDisk O{S1art:0 sector Size: 156301469 sertoes)
“o HartdDisk 0 Partition 1(Start:63 sector Sire:6291
“= HardDisk 0 Partition 2(Start:62926605 sector 5

1= e HardDisk 1{Start:0 sactor Size; 260000001 sectors) | Database Parameters Oracle Version Auto
“= Hardidisk 1 Partition 1{Start:63 soctor Sire: 4096 Taldespace Made Senallide Toblespace
‘e HardDick 1 Partition 2{Start: 05750 sactor 55 Database Bock Sz 512 Bytes/ 1 K8,/7 KB,/4 KB/B KB/ 16 KB/ 32 KB o]
e HardDisk 1 Partition 3{Start- 1220681185 sector 5 | Software Parameters Sagport Fle Fragment Level  Ten Millions Level g
e Haraiisk 1 art: i Buller Size M

B E: ik 0L (Star0 sector Sze:H000000 sectors)
25 B disk 2 (Start:0 sector Ske: 4000000 sectors) |
9 Oracle ASM &

Al l K]
Jype | pate | rime [ Messoge J=
Information  2012-2-9 1L:16:47 Started to get all plysscal disk information.

Information  2012-2-9 111647 Get al disk

Information  2012-2-9 11:34:10 (Create scan region of HardDisk 1 succeed.

| Information  2012-7-9 10:36:24 Scan HardDisk 1 Reglon(Start:63 sector Sin sectors ) started, Sh 404 5
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“e HardDisk U Partition 2(5tart:629
(= %o HardDisk 1(Start:0 sector Size: 2690
“e HardiDisk 1 Partition 1{5tart:63 s i 5
% HardDisk 1 Partition 2(Start: 400 /1 KB/2 KB/ 4 KB/ 8 KB/ 16 KB,/ 32 KB
‘o HardDisk 1 Partition 3(Start: 1221 ¥s Level
< HardDisk 1 Region(Start:63 sect
44 wirtual Disk
59 Oracle ASM

1 Region(Start:63 sector Size:409...

-ﬁﬁw: -h.n‘d.ﬂut I Ragism.SCH ﬂ
=l

REEEQ:  [Scan Inforration Files(s 50N

It

i | P |
| Ty | Dtz I'-!E IM
Information  2012-2-9 11:16:47 Started to get all physical disk information.

Tidormation  2012-2-9 11:16:47 Get all physical disk information completed. -
Information  2012-2-9 11:24:10 Create scan reqion of HardDisk 1 sucosed.

Information  2012-2-9 11:36:24 Scan HardDisk 1 Regicn{Start:63 sector Size: 400965687 sectors) started.,
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P 8 AT 7~ AL . ORACLE H4i Wk & 8K A4 1R 72 In %, & R AT FO 2
JEE A e B 15 JS (SCN ST AF) -

{5 FRUBRTTE Huen ar Oraele VL 1E (kitp {fewe frambiyie =

‘e HardDisk 0 Partition :uaurt 615 |
“e HardDisk 0 Partition Z{Start:639
= % HardDisk 1(Start:0 sector Size: 2600
“e HardDisk 1 Partition L{Start:63 s
s HardDisk 1 Partition 2{Start:409
“e HardDisk 1 Partition 3{S5tart: 122 | 1
“e HardDisk 1 Region(Start:63 sect
4 Wirtual Disk I

ot SauEwBe ] i sana an  SIBWEIE UBIS

9 Oracke ASM
THEM:  |Heick | Brguon 508 =l 0F
WHMEE:  [Scw Information Files (o SCH) = Wil
¥ AT @ !
4
4 |
[Type [Date [ Time [ Message

Information  2012-2-9 1L 1647 Started to get all physical disk information.
Irdormation  2012-2-9 11:16:47 Get all physical disk information completed,
| Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-0 11:36:24 Scan HardDisk 1 Region{Start:63 sector Size: 40065687 sectors ) started.
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i
B
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r
1KB/2 KB/ KB/B KB/ 16 KB/32 KR ¥
H s Leved E
i e HardDisk 1 Reglon(Start:63 sect -
| Wirtual Disk Il Region{SLarl:63 sector Size:an0,,. i
-0 Oracle ASM j§
=4
=
wpEw [T =] ) H
FEsRH T [Registration Files i+ BG5S = g 3
A :
41 | H
| Type | pate | vime: | Message i
Information  2012-2-9 111647 ~ Started to get all physical disk information.
Information  2012-2-9 1L 16:47 Get all physical disk information completed, £
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11136124 Scan HardDisk 1 Region{Start:63 sector Size: 7 sectors) started. i

K9

K] 10 firz N dbYE ORACLE %ids k & 3k AF IEAE 5 ANk B I Fir 75
B0 LCS BB LA
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5 ¥rsion | D8 File Block Size | Instance Nan
= e HardDisk D{Start:0 sector Size: 156 & 16 KB TGL
e HardDisk 0 Partition 1{Start:63 . BT IWEL =
s HardDisk 0 Partition 2{Start:626 16 KB IWEL
(= %= HardDisk 1(Start:0 sector Size:269 AKE TWGL
o HardDisk 1 Partition 1{Start:63: BEKB IWGL |
“ Hardisk 1 Partition 2{Start: 400 7 8KB IWGL
% HardDisk 1 Partition 3(Start: 122 i aKB TWGL 5
“ HardDisk 1 Region(Start:63 secl aKB IWEGL 5
=0 Virtual Disk ; 8xB IWGL |
@ E7\ disk 001(Start:0 sector Size:400 i L] IWNGL M
2 E2 disk 002(Start:0 sector Size:400 4 1k8 i
= i Dracle ASM AL e 3
=y ASM Disk Group 1 T i
T £\ clisk 001 {Start:0 sector Size: HEEQD:  Parddisk | Region 5. 105 I [#Ee | : :: m
W E:\disk 002(Start:0 sector Size: Sk II.:'Lcmc Eeyin. 1C5) = L] I BKB IWEGL
P LASEEIR E 2B TG 5
' e 8KB IWGL i
Eis 7 17768 1ml_lﬁ_é' 8k TWEL
19 4 5.0 MB 100.00% Perfect  10g aKB IWGL
Af | | |_|—l‘
| Type | pate | Time | . I
Tidormation  2012-2-9 11:16:47 Started to gt ol physical disk informatian, -
Information  2012-2-9 11:16:47 Get all phwysical disk information comgleted.
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Irdormation  2012-2-9 11:36:29 Sran HardDisk 1 Region{Start:63 sector Size: 0965687 sectors) started., ]
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(3) Tools sZEAFEAZH
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=% HardDisk D{Start:0 sector Slze: 156301488 sectors)
“+ HardDisk 0 Partition 1{5tart:63 sector Ske:6291 Flesysten Platform Little Exsfian
e HardDisk 0 Partition 2{Start :6202660% sector Siz Flsystem Type HONE
= %o HardDisk 1(Start:0 sector Size-269000001 sectors) | Database Paramaters Dracle version Auto
e HardDisk 1 Partition 1(5tarl-63 sector Siee: 40960 Tal#espace Mode Smalifile Tablespace
e HardDisk 1 Partition 2(Start: 40965750 sector Siz Database Mock Size 512 Bytes/ 1 KB/2 KB/ 4 KB/D KO, 16 KI/32 KB
‘e HardDisk 1 Partition 3(5tart: 1230811685 sector 51 | Software Parameters Support File Fragment Levsl  Ten Milions Level
99 wirrual Disk Buffer Sizn B ME
94 oracle ASM Source Parameters Scan Member And Progress  None
141 | ]
| Type [cate [time  [me

11:11:42
11:11:42

erudmgut-plq*;l;lﬁw
et all physical disk information completed.
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“» HardDisk D Partition 1(Start:63 sector Size:6291
“» HardDisk 0 Partition 2(Start:62926605 sector Siz
= “w HardDisk 1(Start:0 sector Size:269000001 se

H
“» HardDisk 1 Partition 1(Start:63 sector Size Smallfile T !
“w HardDisk 1 Partition 2(Start: 40965750 sec : 512 Bytes/ 1 KB/2 KB/4 KB/8 KB/ 16 KB/ 32 KB
%o Hardpisk 1 Partition 3(Start: 122881185 se Disk Size: | 12827 GA(269000001 Sectors) 4, o) on willons Level g
49 Virtual Disk 8MB =
4 Oracle ASM Start: | 63 [fsector 3] [ess Nome i
Size: | 40965687 [sectors  ~| =
x
_reate | _cancel | '!
e
|7
4 I |
| Type [Date. L Time I»

Information  2012-2-9
Information  2012-2-9

11:16:47
11:16:47

Started to get all physical disk information.
Get all physical disk information completed.
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= e HardDisk 0{Start:0 sector Slze: 156301438 sectors )
‘e HardDisk 0 Partition 1{5tart:63 sector See:62014560 sectors)
“ HardDisk 0 Partition 2(Start-6202660% sector Size0I360780 sactors)
£ e HardDisk 1{Start:0 sector Size: 369000001 sectors)

“e HordDisk 1 Partition 1{5tart:63 sector Siee: 40965687 sectors)

“ WardiDisk 1 Partition 2{Start: 40965750 seclor SizeB1915435 sectors)
46111175 sectoes)

'lKB

Litthe Ercian
Flesystem Type ATE i
Oracls Version fusto i
Tablespace Mode smalflle Tablespace 1
Database Mok Size 512 Bytes/ 1 KB 2 KB4 KB/9 KB/ 16 KD/ ... |
Support File Fragment Level  Ten Millions Level ]
Buffer Sioe & ME -
Scan Member And Progress  None {

o syia il 4

Information  2012-2-9 11:16:47 Started to get ol physical disk information.
Information  2017-2-9 111647 Gt all physical disk information completed.
Informatin  2012-2-9 112410 Create scan region of HardDisk | succeed,

SRR -TY ]
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= e HardDisk D{SLart0 sector Size: 156301408 sectors )
e MardDisk 0 Partition 1{5tart:63 sector Size:6201
e HardDisk [ Partition 2(5tart 62926605 sector Gl

£ e HardDisk 1(Start:0 soctor sactors) b s Orache
e HardDisk 1 Partition 1{Start:63 sector SizecdlG Tablespace Mode
e HardDisk 1 Partition 2(Gtart 40965750 sector Gis Database Block Sie

= HardlDisk 1 Partition 3(Stact: 1228081185 sector 5
o HardDisk 1 sector
=1 g8 Wirtual Disk
= 0 disk 001 (Start=0 sector Size: 4000000 sectors)
sk D02(Start:0 sector Size: 4000000 sectors)

Software Parameters.

o o b

Soirce Parameters

ablespace
512 Bytes, 1 KH/2 KB/ 4 KB/8 KB, 16 KB/ 32 K8
Support File Fragmant Level  Ten Millions Leval
Buffer B M
Sean Member And Progress  Nome

g ASM Disk Group 1
Ll i 2
[Date [ rme [ Message =
Information  #012-2-9 11:16:47 Started to get all physical disk information, ]
Information 201229 11:16:47 Get all physical disk information complisted.
Information  #012-2-9 11:24:10 Create scan region of HardDisk 1 sucoeed.
Information  012-7-9 11:36:29 Scan HardDisk 1 Reglon{Start:63 sector Slee: WG56E7 sectors) starbed, e PEL LY. =
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(O FROBUTTE Bac

(= % HardDisk D(Start:0 sector Size:156301488 se
“» HardDisk 0 Partition 1(Start:63 sector Size
“e HardDisk 0 Partition 2(Start:62926605 sec
(= “= HardDisk 1(Start:0 sector S5ize:269000001 se
“» HardDisk 1 Partition 1(Start:63 sector Size
“w HardDisk 1 Partition 2(Start: 40965750 sec
“» HardDisk 1 Partition 3(Start: 122881185 s¢
“» HardDisk 1 Region(Start:63 sector Size:40

= 49 virtual Disk
A E:\disk.001(Start:0 sector Size: 4000000 sect
) E:\disk.002(Start:0 sector Size:4000000 sect

= 4 Oracle ASM

1= iy ASM Disk Group 1

™) E:\disk.001(Start:0 sector Size:4000000 s
) E:\ disk.002(Start:0 sector Size:4000000 s

Add Wember To ASE Disk Groeup

HardDisk O{Start:0 sector Size: 156301488 sectors)
HUOULDPMRM l(ﬂdt 63 sactor S2e:62914560 sectors)
sector sectors)

4KB

Little Endian

NONE

Auto

Smaillfile T.

512 Bytes/1 KB/2 KB/4 KB/8 KB/ 16 KB/ 32 KB
Ten Millions Level

8me

5s  None

1l owr sana aal ey

(B re

< J |
| Type [pate | Time: |
Information  2012-2-9 11:16:47 Started to get all physical disk information,
Information  2012-2-9 11:16:47 Get all physical disk information completed.
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:29 Scan HardDisk 1 Region(Start:63 sector Size: 40965687 sectors) started.
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] 16 B bV ORACLE i 1k 52 A4 il A B X3k iy i 25 6 1 41
X RFNE

= 55 Physical Disk

Y ~ [rameter Name | Parameter Value 3
=2 Ha'l:l)istD(Sla’l:l] sector Size: 156301488 sp — 4KB |
“e HardDick ) Partition 1(Start:63 sector Size : Little Endian 5
“o HardDisk 0 Partition 2{Starl: 62926605 set HardDick, <0 sactor S2a: 156301485 sedors) psystem T NONE :
= = HardDisk 1{Start:0 sector Size: 260000001 se |40k D Parttion 1163 sactur Soe:6aglasen sactors) s Ve Auto |
HardDisk, 0 Partition 2{5arki 52926605 sector Siae: 93269790 sectors)
% HardDisk 1 Partition L{Start:63 sector Size |Hardiesk 1(Sta:0 sector Se:259000001 sertors) Mode Smallfile Tablespace
o HardDisk 1 Partition 2(Start:-40965750 seg  [HardDusk | Partition 1{Start:63 sector Size:d(R65687 sectors) ptabiase Block Size 512 Bytes/1KB/2 kB ©
“ HardDisk 1 Partition 3(Start: 122881185 56 ||t | booten s m“ﬁ*’m‘m’;‘“’mﬂﬁ,’mm il lpport file fragment Level  Ten Millons Level 2
“e HardDisk 1 Region({Start:63 sector Size:40 ardDisk: | st sechar S acto n
9 Virtual Disk :
44 Dracle ASM bi
Previous next | cancel |
5
4 | =
s = T :
Information  2012-2-9 11:16:47 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Get all physical disk information completed,
Indormation  2012-2-9 11:24:10 Create scan region of HardDisk 1 suceeed,
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ik
Tests HSultings Becovery Balp

(= 7w HardDisk D(Start:0 sector Size; 156301488 ge R E
e HardDisk 0 Partition L{Start:63 sector Size ; Little Endian i
| % HardDisk O Partition 2(Start:62026605 sex NONE 5
[= %o HardDisk 1{Start:0 sector Size: 260000001 se Auto &
“ HardDisk 1 Partition 1(Start:63 sector Sz smallfile T ) :
< HardDisk 1 Partition 2{Start: 40065750 sec 512 Bytes/1 KB/2 KB/4 KB/8 KB/16 KB/ 32 kB ¥
-“e HardDisk 1 Partition 3(Start: 122881185 s+ Ten Millions Level £
e HardDisk 1 Region(Start:63 sector Size:40 aMe -
= 44 virtual Disk None i
5 £\ disk 001 (Start:0 sector Size:4000000 sec! =
) B2 dlisk 002(Start:0 sector Size: 4000000 secl :§
= 49 Oracle ASM | =

1= = ASM Disk Group 1
|29 B\ disk 001 (Start:0 sector Size:4000000 s

2 E\disk.002(Start:) sector Size: 40000005 (revious | next | T Cancel |
|Hype | Date [time  [Message T
Information  2012-2-9 11:16:47 Started to get all physical disk information, =
Information  2012-2-9 11:16:47 Get all physical disk information
Information  2012-2-9 11:24:10 Create scan region of HardDisk lsunmed
Information  2012-2-% 11:36:24 Scan HardDisk 1 Region(Start:63 sector Sie: 40965687 sectors ) started. ]
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18 A7~ ALY ORACLE $5 3 Wk & 8 A 1 i i A/ o A 2L e e 3 A N ST A
RESHHI S :

© FRUBNTTE Hee

= “» HardDisk O{Start:0 sector Size:15630148¢

“» HardDisk D Partition 1(Start:63 sector © | Scan Filesystem Block Size ~Scan Flesystem Platform 1 L platform Little Endian
“» HardDisk 0 Partition 2(Start:62926605 l—a Boctoes I € Litle Endian @ Pig Endia m Type NONE
= “» HardDisk 1(Start:0 sector Size:269000001 : >rsion Auto
“» HardDisk 1 Partition 1(Start:63 sector ‘ re Mode Smalifile Tablespace
“o HardDisk 1 Partition 2(Start:40965750 | Scan Filesystem Type - Block Size 512 Bytes/1KB/2KB/ *
% HardDisk 1 Partition 3(Start:12280118¢ le Fragment Level  Ten Millions Level ]
NONE C NIFS * EXT3 -
“» HardDisk 1 Region(Start:63 sector Size L @ Xt o 8MB 5
49 Virtual Disk 7 hber And Progress  None 3
41 Oracle ASM " REISERFS (" REISER4  © XFS " HIFS 5
 uFs1 © urs2  Fs1 w52 =
 VXFS © ASM

i
'
i

L i

[Type [pate _[rime [ Message

Information  2012-2-9 11:16:47 Started to get all physical disk information,
Information  2012-2-9 11:16:47 Get all physical disk information completed.
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
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File Teals Huitings Qecowery fiadp

= 59 Physical Disk
= % HardDisk 0{Start:0 sector Sizi
“w HardDisk O Partition 1(Star

i oy

| % HardDisk O Partition 2(Star | : - e vpe NONE i
= % HardDisk 1(Start:0 sector Sizi | = Auto] © Oracle sl Orocle 9 # Smallfile Tablespace on Auto

% HardDisk 1 Partition 1{Star - - o - Mode Smallfile Tablespace !

“ HardDisk 1 Partition 2{Star | Dracle 105 © Oracle 11g  Bigfile Tablespace nck Size 512 Bytes/ 1 KB/2 kB/ #

“o HardDisk 1 Partition 3{Star - fragment Level  Ten Milions Level [

“= Hardbisk 1 Region(Start:6. 5o Database Block Sioe B 2

9 virtual Disk S ; o . A Progress. | None z

9 Oracle ASM ¥ S12Bytes 7 1k8 ~ 2KB ¥ aks ¥ BKB H

¥ I6KE @ 32KB [ Dustomsizes [ 6 ke é

2

e [bate  [tme  [Messome.
Information  2012-2-9 11:16:47 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Get all physical disk information completed,
Tidormation  2012-2-9 11:24:10 Crsate scan region of HardDisk 1 suceesd,

K19

20 Fr7n AAEIE ORACLE Hicdfa W S BR AF 31 St i At/ W AL 2L I 30 36 R PP 3B AT
A S 1 -

= ') Physical Disk
[= “= HardDisk D{Start:0 sector Size: 156301488 sectors)
‘e HardDisk O Partition 1(5tart:63 sector Size:620
“o HardDisk 0 Partition 2{Starl 62926605 sector §
[= % HardDisk 1(Start:0 sector Size: 260000001 sector | &

2
%« HardDisk 1 Partition L{Start:e3 sector Size:40t = Tablespace Mode Smallfile Tablespace E
o HardDisk 1 Partition 2(Start:-40965750 sector ¢ | | OneMillion Level & Ten Millions Level Database Block Size 512 Bytes/ 1 KB/2 KA/ 9
“w HardDisk 1 Partition 3(Start:122881185 sector Suppert Flle Fragment Level  Ten Millons Level |9
“ HardDisk 1 Region(Start:63 sector Size:40965¢ Buffer Size aME ]
4 Orache ASM - 1me © 2mB amB E
F avB. Caeme  C3:2Me &
&
4 1 3

(ype  [pate  [time [Wessage
Information

2012-2-9 11:16:47 Started to get all physical disk information.

Information  2012-2-9 11:16:47 Get all physical disk information completed,
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 suceeed,

K 20
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[= % HardDisk O{Start:0 sector Size: 156301488 sectors) Flessys tem Alock Size 4KB E
“e HardDisk 0 Partition 1(Start:63 sector Size:62914560 sectors) Platform ﬂgtm‘lal 1
% HardDisk 0 Partition 2{Start:62026605 sector Size: 93369780 sectors) EXTY a
(= %= HardDisk 1(Start:0 sector Size:269000001 sectors) Auto G
“e HardDisk 1 Partition 1{Start:63 sector Sk, Smallfile Tablespace E
“ Hardisk 1 Partition 2(Start: 40965750 sed 512 Bytes/1KB/2 KB/ %
e HardDisk 1 Partition 3(Start: 122801185 s¢ Ten Millors Level H
“o HardDisk 1 Region{Start:63 sector Size:4d amMg =
0 Virtual Disk HardDisk 1 Region(Sta i
% oracle ASM xé
E
-
:
4] |
| Type [pate. | T Message
Information  2012-2-9 11:16:47 Started to get &l physical disk information.
| information  2012-2-9 11:16:47 Gt all phyysical disk information completed.
| Infformation  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size: 40965687 sectors) started,

K21

I (= “e= HardDisk O{Start:0 sector Size: 156301488 sectors ) Filesystem Paraneters Filesystem Block Size 4¥R E
“ HardDisk 0 Partition L{Start:63 sector 5i2e:62014560 sectors) Flesystem Platform Big Endian ;
| s HardDisk 0 Partition 2(Start:62926605 sector Size;93369760 sectors) Filesystem Type EXT3 g
[= % HardDisk 1{Start:0 sector Size: 269000001 sectors) Database Parameters Oracle Version Aurbo !
S Hat sk L Pkt L a6 S O i et T Mode smallfile Tablespace
e HardDisk 1 Partition 2(Start: 40965750 sec Database Block Size 512 Bytes/ 1 KB/2 KB/ ¥
“e HardDisk 1 Partition 3(Start: 122801185 st Pty i Support Fle Fragment Level  Ten Milkons Level H]
“ HardDisk 1 Reghon(Start:63 sector Size: 40 TR S MRt Handolsk:1 Regln Buffer Size B Me =
@ i Dk Gcan Member And Progress  HardDisk 1 Region(Sta 5
4% Oracle ASM % _ E
Aot 1816 Mefmin Aot Smin Lsft  [[StopSeen] 5
< il
[ Type [pate [Time: Message
Information  2012-2-9 11:26:47 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Gt all phwysical disk information completed.
Information  2012-2-9 1L1:24:10 Create scan reqion of HardDisk 1 succeed.
Information  20012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size: 40065687 sectors ) started,

K] 22
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Gl S0 1] oy s g SSEER d EIS

= e HardDisk D{Start:0 sector Slze: 156301488 sectors)

5 109 TWGL TWGL
‘e HardDisk 0 Partition 1{5tart:63 sector See:6291 6 10y TWGL FWGL
e HardDisk 0 Partition 2{Start:62026605 sector 5 | M 6 ¥ 1.95 GB 1% Perfect  10g BEB el el
= e HardDisk 1(Start:0 sector Size: 20000001 sectors) ([ 7 E:) 1.95 GR LNLR Perfect  10g BER WL AL
e HardDisk 1 Partition 1{5tari:63 sector Siee:d096 | [ 13 3 G300 M 100.00% Perfect  1ig B KB TWIGL. | GWSALX
e HardDisk 1 Partition 2(Start:$0965750 sector Sz | [J 15 1 1200 ME 100000 Perfect  10q BER aGL SYSTEM
e 1 10000 MB  99.30% Perfect Ty BEB TWGL TEMP
2 1.72 GH MNP Parfect  1ig BER Tl UNDOTES
4 5.0 M8 LML Perfect  1ig B KB TWGL USERS

JET] 1 |
Type  [pate [ Time. [Message

Information  2012-2-9 11:16:47 Started to get & physical disk information. |
Inforisation  2012-2-9 11:16:47 et all physical disk information completed,

Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 suoosed.

Information  20012-2-% 11324 ‘Sean Hardiisk 1 3 sector sectors ) started,

Information  2012-2-0 104707 ‘Scan HardDisk 1 Region(Start:63 sector Slze: 40965687 sectors ) finkhed,

ShHJHELE

K 23

(3) Settings SEHA4H
24 Fror NAETE ORACLE diik 2 5 AF ) Settings SEHFS

‘e HardDisk 0 Partition :(mm-umm 6291 Flesystem Platform Lithlie Exwian 3
‘e HardDisk 0 Partition 2{Start-6 2000605 sector Siz Flesystem Type MONE g
= e Hardbisk 1{Start:0 sector Size: 209000001 sectars) | Database Parameters Dracle Version Auto E
e HardDisk 1 Partition 1{%tarl:63 sector Skoec 096! Tablespace Mode Smallfile Tablespace
e MardDisk 1 Partition 2(Start: 40965750 sector Siz Database Block Size 512 Byles; 1 KB/ 2 KB,/ 4 KB/8 KB/ 16 KB/32 KB
“e HardDisk 1 Partition 3(Start: 122001185 sector 5i | Software Parameters Support File Fragment Lewel  Ten Millons Lewel
9 virtual Disk Buffor Size 8 MB
44 oracle AsM SOUrce Parameters Scan Member And Progress  None ?
=
B
S
&1 | i
| ype [ate [time  [sessage : 1

Information  2012-2-9 11:11:42 ‘Started to get o physical disk information.
Information  2012-2-% 11:11:42 fant all physical disk information completed,

BHJEL S
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Default Filesystem Parameters 5

-Default Filesystem Block Size efault Filesystem Platform
I 8 Sectors @+ Little Endian " Big Endian
-Default Filesystem Type
+ NONE " NTFS " EXT3 " EXT4
" REISERFS " REISER4 " XFS " HTFS
" UFS1 " UFS2 " JIFS1 " JFS2
" YXFS " ASM

Restore Default Yalue | Set Default Yalue

K] 25
Il 26 Fras b E ORACLE £ Pk &2 3 A4 ) BRI B J22 SO A S O iE -

Defanlt Database Farameters

-Default Oracle Yersion —Default Tablespace Mode
* Auto " Oracle 8i " Oracle 9i * Smallfile Tablespace
" Oracle 10g " Oracle 11qg " Bigfile Tablespace

-Default Database Block Size

W 512Bytes v 1KB ¥ 2KB ¥ 4KB v BKB
¥ 16 KB v 32 KB " Custom Size: | 2 KB
Select All | Unselect All | Select Invert |

K 26
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~Default Support Fle Fragment Level

" One Million Level * Ten Millions Level

—Default Buffer Size

 1MB - 2MB " 4MB

+ gMB " 16 MB " 32 MB

Restore | Set Default |

K 27

K 28. & 29 ffran g B A6, ORACLE i ik 53 48 (1548 28 S0 A 3t i vt
T AE A e &5 IR SR 51 %

w VI 12 (hity://eww Lrunhyle cus)

DB File 1D/ Size/ Tntegrity
. ~ DB File 1D from: 1 v up to: I 10
ical Di : [ 1000 2 [oe =] DB File Block Size | Instance Nan

Hardoisk 0(Start:0 sector Size:15630146¢ |~ DUflesizefrom: [ 1000 [ve =] P upto: [ 5 [oe T g E
| ‘e HardDisk 0 Partition 1(Start:63 sector : BKB IWGL »
|1 % HardDisk D Partition 2(Start:62926605 * DA fle Integrity from: I B0 % v up to: | 100 % BKB IWGL g
| =% HardDisk 1(Start:0 sector Size: 269000001 B KO IWGL 2
: | % HardDisk 1 Partition 1(Start:63 sector BKB JWGL g
| % HardDisk 1 Partition 2{Start: 40965750 e 3 = BKB IWGL é
|- % HardDisk 1 Partition 3(start:1226e11g; | OB File version akn TWEL s
! ' % HardDisk 1 Region(Start:63 sector Size ~ Unknown ~ oracle 8l v Oracle ol BKB IWGL -
| 199 Virtual Disk 8x8 IWGL 7
48 Oracle ASM ¥ oracle 10g  oracle 11q g
DB Flle Block Size 3
~ 512 Bytes v 18 v 2kn v akn v axa g
~ 16K8 v 32x8 I Custom Size: o KB 5
g

Restore Default |

| | i
[Type [Date [ 1ime [ Message I
Information  2012-2-9 11:16:47 Started to get all physical disk information.

Information  2012-2-9 11:16:47 Get all physical disk information completed. —

Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan HardDisk 1 t:63 sector Size: sectors) started.

] 28
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3 Physical Disk

=-“w HardDisk 0{Start:0 sector Size; 156301488 sectors ) . 5 1.95 oo 100.00% Perfect  10g B KD TWEGL g
‘= HardDisk D Partition 1(5tart:63 sector Size:6291 | 5 & 1.9%5 68 100.00% Perfect  10g gEB IWGL 'U
‘o HardDisk 0 Partition 2(S5tart:62926605 sector 56 | ] 6 7 1.95 GB 100.00% Perfect 104 8 KB WL ;
=) % HardDisk 1{Start:0 sector Size: 269000001 sectors) |1 7 B 1.95 o8 100.00%: Perfect  10g 8 ki IWGL
“e HardDisk 1 Partition L(5tart:63 sector Size:4096 | [ 15 1 10200 M8 100.00% Perfect  10g BEB WG i
1 1000.0MB  99.30% Perfect  10q 8 KB IWGL .
z 1.22 68 100L00% Perfect  10g B KB WG E
z
E
B
o
4] | P P ————
Information  2012-2-9 11: 1647 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Gt all physical disk information completed. —l
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size:40965687 sectors) started. =

K 29

K30, & 31 Frngy 596 ORACLE He 1k &5 # A ey B e SOt me ik
PEXTUEAE A ik i 45 SR SO R B 3K

ele VI 12 (Bttp //wse

Fila x..u Setting |uml-ry l-b

= 4 Physical Disk

= “e HardDisk 0(Start:0 sector Size:15630148¢
“» HardDisk D Partition 1(Start:63 sector | Fragment File ID/Block ID/Block Count
“o HardDisk D Partition 2(Start:62926605 _ )

= %o HardDisk 1(Start:0 sector Size:260000001 | Fragment File ID from: [ 1 Pt | 10
“» HardDisk 1 Partition 1(Start:63 sector !
“ HardDisk 1 Partition 2(Start:40065750 | ¥ Fragment Block 1D from: [ 10000 ¥ upto: | 50000
“w HardDisk 1 Partition 3(Start:12288118°
“» HardDisk 1 Region(Start:63 sector Size vn—wmmml 128 ¥ up to: I 512

49 Virtual Disk

4 Oracle ASM

agment Block Size
¥ 512Bytes ¥ 1B ~ 2xB v axB ¥ 8B

| o swawbess OIS 80 [SHmoueIed WS

~ 16KB ~ 32k8 I Custom Size: I a9 KB
& | il
[Type [Date [Time I 5|

Information  2012-2-9 11:16:47 Started to get all physical disk information,

Information  2012-2-9 11:16:47 Get all physical disk information completed.

Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.

Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size:40965687 sectors) started,

K] 30
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er for Oracle ¥i, 12 (hit v frembyle. com)

= 'y Physical Disk ~= r
= % HardDisk O(Start:0 sector Size:156301488 sectors ) O 162 5 10246 512 B KR ;
%= HardDisk 0 Partition 1{Start:63 sector Size:6291 | (] 163 5 10758 517 BER E
‘e HardDisk 0 Partition 2(Start:62926605 sector Siz | [ 164 5 11270 517 BER !
= % HardDisk 1(Start:0 sector Size: 260000001 sectors) | O 165 5 11782 512 B KH =
“= HardDisk 1 Partition 1{5tart:63 sector Size:4096 | O 166 5 12294 512 B KR !
e HardDisk 1 midm 2[9!&'! AN96S750 sector Sk | O 167 5 12806 512 B KB
O 168 5 13318 512 B KB =
] |0 169 5 13830 512 B KB -
[mE¥] 5 14342 512 8 KB !
O 5 14854 512 BEB
0172 5 15366 512 8 KB ;
[mp ] 5 15878 512 a ks
O 174 5 16390 512 8 KB
0175 5 16902 512 BEB B
Owe 5 17414 512 B KB
0177 5 17926 512 B KB E
O 3 18438 512 g8 kB 5
[mB ] 5 10950 512 B KB i 5
O 180 5 10462 512 B EB
1.1 5 19974 512 B KR
M 162 5 20466 512 B KB _J.?J
4 | 2 Kl | &
| Type [ Date [ Time [ Message =
Information  2012-2-9 111647 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Get all physical disk information completed, —
Informatian  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed,
Information  2012-2-0 11:36:24 Scan HardDisk 1 Region{Start:63 sector Size:40965687 sectors) started. ;I

K 31

& 32 ffrom 7946 I ORACLE Hicdfa Ve B2 A4 1 45 2R b 58— o a2 SR
P (5 B3R

(@) FEORNTTE Beconstructer for Oracle V112 (hitp:/fwws. freabyte. conl

File Tesls Sattings Becevary Halp

1= 44 Physical Disk n
= % HardDisk O(Start:0 sector Size:156301488 sectors ) O 5 ;
%= HardDisk 0 Partition 1{Start:63 sector Size:6291 | (] 163 5 10758 517 BER E
‘e HardDisk 0 Partition 2(Start:62926605 sector Siz | [ 164 5 11270 517 BER !
= % HardDisk 1(Start:0 sector Size: 260000001 sectors) | O 165 5 11782 512 B KH 2
“= HardDisk 1 Partition 1{5tart:63 sector Size:4096 | O 166 5 12294 512 B KR !
“ HardDisk 1 Partition 2[9!&'! AN96S750 sector Sk | O 167 5 12806 512 B KB
O 168 5 13318 512 B KB g
A | O 169 5 13830 512 B KB -
[mE¥] 5 14342 512 8 KB !
O 5 14854 512 BEB
0172 5 15366 512 8 KB i
[mp ] 5 15878 512 a ks
O 174 5 16390 512 8 KB
0175 5 16902 512 g kB
Owe 5 17414 512 B KB
0177 5 17926 512 B KB E
O 3 18438 512 g8 kB 5
[mB ] 5 10950 512 B KB 5
O 180 5 10462 512 B EB
1.1 5 19974 512 B KR
M 162 5 20466 512 B KB _J.?J
1l | 4l | &
| Type [ Date [ Time [ Message =
Information  2012-2-9 111647 Started to get all physical disk information.
Information  2012-2-9 11:16:47 Get all physical disk information completed, —
Informatian  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed,
Information  2012-2-0 11:36:24 Scan HardDisk 1 Region{Start:63 sector Size:40965687 sectors) started. ;I

K 32

(4) Recovery SZHAZA4H.
1 33 75 AL T ORACLE $CiRHE S BRI Recovery SEMA%



JtF ORACLE ¥k &% V1.12 {4 3i 8] http://www.frombyte.cn .
18-

Explerer 18 Filax Info

Eplerer Framests Info
Lreate Mageaiic Bagart
Ravevar Harked Filax

HardDigk 0{5tart:0 sector Size: 156301468 sectors )
“e HardDisk 0 Partition 1{5tart:63 sector Skre:6291:
‘e HardDisk 0 Partition 2(Start-6 2020605 sector Siz

= % HardDisk 1(Start:0 sector Size:269000001 sectors) | Datahase Paramaters Dracle Version Auto
“e HartDisk 1 Partition 1{5tart-63 sector Siee:q096! Tablespace Mode smalifile Tablespace
“e HardDisk 1 Partition 2{5tart: 40965750 sector Siz Database Bock Size 512 Bytes; 1 KB/2 KB/ 4 KI/'D KB, 16 kB/32 KB
‘e HarFdDisk 1 Partition 3(Start: 122001185 sector 5i | Software Parameters Support File Fragment Level  Ten Milians Lvel

94 virtual Disk Buffer size HMH

44 oracks AsM Source Parameters Scan Member And Progress  None

! | | il

| Dater [ time [ Message ]
Information  2012-2-% 11:11:42 Started to get o physical disk nformation.
Information 20220 111142 et all MJ disk information m

SEPEN-TW)

K33
@M%TﬁkﬂmmmﬁﬁrE%#E#ﬁm%ﬁﬁﬁﬁxﬁhuﬂ%

OfStart:0 sector Slze: 156301438 sectors) o 109 TG
“ HardDisk 0 Partition 1{5tart:63 sector Sze:6291 | 1 o 7.60 MB 10.00% Perfect  10g 16 KB TWGL
= HardDisk 0 Partition 2{Start-6202660% sector 5 | ) 1] V.6A M 100% Perfect 1y 16 KB el
S HardDisk 1[Start:0 sector Sie 9000001 sectors) || 3 o =000 M 0.81% Parfect 10 BER AL INDX
‘e HardDisk 1 Partition 1{5tart:63 sector Siee:4096 | 4 5 1.95 68 100.00% Perfect  10g B KB TAGL TWEL
‘o HardDisk 1 Partition 2{Start:$0965750 sector Sz |0 5 B 1.95 6B 100.00% Perfect  10g BER TAGL WGL
‘e HardDisk § Partition 3(Start: 1720811685 sector 5 Oa A 1.95 GH ML Perfect | Lig BKB Wal WL
‘e HardDIsk 1 Reglon(Start:63 sector Size:sovsses (O 7 B 1.9% GH UKL Perfect  10g B KB TG TWTL
4 Virtual Disk Os 12 1.95 6B 60.80% Porfect  10g B KB TWGL TWEL
' Oracls ASM Os 13 1.95 6B 64400 Perlect  10g BEB TG WL
0o o S0.0 MB L% Perfect  10g 1KB
O o 0.0 ME WELG% Perfect  10g 1K8
0z o 50.0 ME 100.00% Parfact  10g 1KB
[m FE] 3 G300 MEB 100.00% Perfect  10g L) TWGL SYSALK
014 w0 B0 ME 5.51% Perfect 10 BER el SYSALK
O 1 UEOOME LN Perfect  10g BKB TWGL SYHTEM
O 11 BN M 2.51% Perfect iy BER AL SYRTEM
Qair 1 D0 ME 0,30 Perfect 10g BrE TWGL TEMP
O in 2 1.22 Gb 10000 Perfect 10y BKB by URDOTESL
O 4 5.0 MB LN Perfect | 1i0g 2K AL UsERS
il 1 it |
 Type [pate [sessage : I
Information  2012-2-9 Started to get all physical disk information.
Information  2012-2-9 Get all phiysical disk information compket e
Information  2012-2-9 ¢ Create scan region of HardDisk 1 sucosed.
Information  2012-2-0 103624 Sean HardDisk 1 Region(Start:63 sector Siza: 40965687 sectors ) started,
Information  2012-2-0 114717 Scan HardDisk 1 Reqion(Start63 sector Glze: 40965687 secbors ) finkshed,
BHJELF
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raig Fra Frage |
oo n [] 3 16 KB i
vmnm:mmw:mmm1 O o a3 256 16 KB :
e HardDisk 0 Partition 2{Start-6 2026605 sector 5 | 2 o @50 > 16 KB g
& e Hardbisk 1{Start:0 sector Siee:209000001 sectors) | 3 o 0 3 16 KB
e HardDisk 1 Partition 1{5tart:63 sector Siee:A096 | 4 ] 3 256 16 KB g
e MardDisk 1 Partition 2{Start: 40965750 sector S | 0 5 o 253 M 16 KB 3
“e HardDisk 1 Partition 3{Start: 1720011685 sector 5 | O & o 0 3 16 KB E
‘= HardDisk 1 Reglon(Start:63 sector Slee: 4006568 | O 7 o 3 25 16 KB -
9 virtual Disk Os L] (1] 6 BER E
48 orache AsM O9 9 6 512 B KD =
0w 1] 759 73 16 KB i
On [ 518 512 HEH
Oz n 1030 517 ABEKR 7
013 1] 1542 512 AKB
O o 2054 512 o KR -5
0as o bty 1z H KB
0. L] 3078 512 BEB =
O 1] 3590 512 BEKR a‘
O o 4102 512 o KB
O o At 512 KB
O@n 0 5126 512 AER
o=z o 5638 512 8 KB
Oz 1] 6150 517 i)
022 o 6662 512 B KR
sl 1 s 102 L T o6 A KB |
Date Tirme — l

Information  2012-2-9 11: 16047 Started to mtdplﬂ'doaldskh‘fm

Information  2012-2-9 11:16:47 et all physical digk information

Information  2012-2-9 11410 &nlnwcmmnfﬂrmim

Information  2012-2-9 113624 ‘Sran HardDisk 1 ti63 sector sectors ) started,
Information  2012-2-9 114717 ‘Sean HardDlsk 1 Region(Start:63 sector Size: 409656687 sectors ) fintshed,

SEPR -V

K] 35

] 36 At~ 9L IF ORACLE £ Wk & A 725 8 2500 2 S AR R ARV E A s
XEHE, 75T ARBGEM SO (LCS SCHF) Ja BEXT T AE i 2% «

- 4 Physical Disk
(= “» HardDisk D(Start:0 sector Size:156301488 sectors)

) £\ disk.002(Start:0 sector Size:4000000 sectors)
= 49 Oracle ASM
= g ASM Disk Group 1
) E:\disk.001(Start:0 sector Size:4000000 sectors
) E:\disk.002(Start:0 sector 5ize:4000000 sectors.

o 7.68 MB 100.00% Perfect IWGL g
“w HardDisk 0 Partition 1(Start:63 sector Size:6291 0 7.68 MB 100.00% Perfect IWGL :
“w HardDisk 0 Partition 2(Start:62926605 sector Siz o 7.68 MB 100.00% Perfect 16 KB IWGL s

1= % HardDisk 1(Start:0 sector Size:269000001 sectors) ) 5000 MB  0.81% Perfect KB IWGL
“w HardDisk 1 Partition 1(Start:63 sector Size: 4096 5 19568 100.00% Perfect 109 8KB IWGL i

“» HardDisk 1 Partition 2(Start:40965750 sector Siz 6 19568 100.00% Perfect 109 aKke IWGL
“» HardDisk 1 Partition 3(Start:122881185 sector S 74 19568 IWGL 8
“w HardDisk 1 Region(Start:63 sector Size:4096568 2 IWGL ot
= 49 virtual Disk IWGL 7
) E:\disk.001(Start:0 sector Size: 4000000 sectors) IWGL ;
E

HHEHE

i | ] 2
| pate | Time 1 %
Information  2012-2-9 11:16:47 Started to get all physkd dlsk information.
Information  2012-2-9 11:16:47 Get all physical disk
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed,
Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size:40965687 sectors) started. |
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File Number | D8 File 1D | DB File Size | DB File I DB file Version | DB File Block Size Mmhlg
(= “» HardDisk 0(Start:0 sector Size:156301488 sectors) ) 7.68 MB 100.00% Perfect 109 16 KB IWGL
ou-mnm—nunnl(mtsasecmrslzemx 0 7.68 M8 100.00% Perfect  10g 16 K8 WG o
CCEIE— i) O [705M8 | 18050% Parfect 103 11 L
e b 9 S000MB  0.81% Perfect 109 8kKB IWGL
5 1.95 GB 100.00% Perfect  10g gKB IWGL
6 1.95GB 100.00% Perfect  10g 8KB IWGL
.-. ) C3 Docusents snd Settings = 7 1.9568 100.00% Perfect 109 kB IWGL o
< 45 Foxaail 7.0 [} 1.95 GB 100.00% Perfect  10g 8KB IWGL 2
= 49 Virt B Intel 12 1.95G8 69.80% Perfect  10g 8KB IWGL E
e 9 e : 13 1.95 68 64.40% Perfect  10g aKB IWGL it
B ”Qq hpren Vi1 ee 210 0 50.0 MB 100.00% Perfect 10g 1kB g.
& $ora & id B11 0 S00MB  100.00% Perfect 10g 1B =
Py ~ 12 0 50.0 MB 100.00% Perfect  10g 1kB =
-~ 0TI Tt e 213 3 930.0MB  100.00% Perfect  10g 8KB IWGL
: j 8 b : 014 10 800.0MB  5.51% Perfect 10g 8KB IWGL
&2, DYD/eD-ay 8RN @) - @15 1 10200 MB  100.00% Perfect  10g 8KB IWGL
< 2 j W O1s 11 8000M8  2.51% Perfect 10g 8KB IWGL i
317 1 10000 MB  99.30% Perfect  10g 8KB IWGL
E i & 18 2 1.22 100.00% Perfect 109 8KB IWGL i
_' 19 4 5.0 M8 100.00% Perfect  10g 8 KB IWGL
d | o sl ! 2
[Type | Date | Time | \ lfl
Information  2012-2-9 11:16:47 Started to get all physical disk information,
Information  2012-2-9 11:16:47 Get all physical disk information completed.
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size:40965687 sectors) started. =l
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= e HardDisk 0{Start:0 sector Size:156301488 sectors) I:I25 E
‘e HardDisk O Partition 1{5tar sector Size:6201 n 140 512 BKB =
a12 BEB 3
512 aKE i
512 8KB §
512 L] Rl
512 Bk g
Hmlkwsmﬁlmm S 512 BEB -
= 99 Virtual Disk s o e 512 akB 7
25 £\ olisk 001 (Start:0 sector Size; 4000000 s - ; 512 B KE
25 E:\ disk 002(5tart:0 sector Size:4000000 s 512 8kB ;
= 49 Oracle ASM 512 ak|
3 TIT - e 512 L]
= kg ASM Disk Group 1 1= i
29 2 disk.00 1 (Start:0 sector Size: 4000000 sectors E 1'553 : 6130 ::2 gg |
& B\ disk 002(Start:0 sector Size: 4000000 sectors 0 155 5 BE03 281 KB i
O 156 3 7174 512 BEB g
0 157 5 7606 512 akm :
M 158 5 8198 (512 (%]
Bl 159 5 B710 512 ABEKBR
‘?- 160 5 e 512 akn
il | 14 ; x s ; I i
[1ype [Date [ Time [Message 2
Information  2012-2-0 1h:16:47 Started to get all physical disk information.
Information  2012-2-9 11:16:47 et all physical disk information completed.
Information  2012-2-9 11:24:10 Create scan regun of HardDisk 1 succesd. {
Information  2012-2-0 11:36:24 Scan b t:63 sector Size SGHT sectors ) started, j
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Fil 4KB g
‘i HardDisk 0 Partition l[ﬂm-ﬁ:ﬂmm 6201 Flesystem Patform Litthe Erwfian ]
“e HardDisk 0 Partition 2 (Start 62020605 sector S Filesystem Type NOME
& S Hardbisk 1{Start:0 sector Size: 209000001 sectors) | patabase Parameters Dracle Version Auti
e HardDisk 1 Partition 1{%tarl:63 sector Skoec096! Tablespace Mode Smallfile Tablespace -
e MardDisk 1 Partition 2{Start 40965750 sector Siz Database Mock Size 512 Bytes, 1 KB,/ 2 KO,/ 4 KB/0 KB, 16 K8/ 32 KB et
“e HardDisk 1 Partition 3(Start: 122001185 sector 5i | Software Parameters Support File Fragment Lewel  Ten Millons Lewel i
0 wirtusal Disk Buffor Size B MR =
49 Oracks ASM Source Parameters Scan Member And Progress  hone E
l | » |
e oo [ome _ [wessage : ]

Information  2012-2-9 11:11:42 Started to get o physical disk information.
Information  2012-2-% 11:11:42 fant all physical disk information completed,
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& 40 F}?/Tmtjz ORACLE %ﬂ&f AR RGBS AR R 7 5

(= “e HardDisk 0(Start:0 sector Size: 156301488 sectors) (15 IWGL E
“ HardDisk D Partition 1(Start:63 sector Size [SYTH IWGL ®
“» HardDisk 0 Partition 2{Start:62926605 sec IWGL
= ‘e HardDisk 1(Start:0 sector Size:269000001 se 109 8KB IWGL
“» HardDisk 1 Partition 1(Start:63 sector Size | ; 109 88 IWEGL
“o HardDisk 1 Partition 2(Start:40065750 sec | 72r590 ¢ mm ’g’;g"" V112 10g 8KkB IWGL
e HardDisk 1 Partition 3(Start: 122801185 se mm'u “V ¥ fenmcors  all ke m""""" 109 8kB IWGL -]
“» HardDisk 1 Region(Start:63 sector SIze:40'  |f v have sy question, you can kg o the websits - 10g 8 kB wa
= 4 Virtual Disk ):/fwww, frombyte.com or emall us to tzf@datahf.net, 10g 8kB IWGL E
@ E:\disk.001(Start:0 sector Size:4000000 sect: X Wil 10g 8kB IWGL =
) E:\disk.002(Start:0 sector Size:4000000 sect :gg : a 2
=44 Oracle ASM
= = 1 1K i
2 E:\disk.001(Start:0 sector Size: 4000000 sectors
! e 3 014 10 8000M8  5.51% Perfect  10g 8KB IWGL
@ E:\disk.002(Start:0 sector Size:4000000 sectors 215 1 10200 MB  100.00% Perfect 109 8KB IWGL
O1s 1 8000MB  2.51%Perfect  10g 8x8 IWEL
=217 1 1000.0MB  99.30% Perfect  10g 8KB IWGL
218 2 12268 100.00% Perfect  10g 8KB WGL
100.00% Perfect IWGL

[Type | pate | Time: | Message lfl
Information  2012-2-9 11:16:47 Started to get all physical disk information,
Information  2012-2-9 11:16:47 Get all physical disk information completed.
Information  2012-2-9 11:24:10 Create scan region of HardDisk 1 succeed.
Information  2012-2-9 11:36:24 Scan HardDisk 1 Region(Start:63 sector Size:40965687 sectors) started, =l
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